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1. In phase I of glycolysis, the appropriate sequence of enzymes is:
phosphofructokinase-1 (PFK-1)
hexokinase/glucokinase
fructose bisphosphate aldolase
phosphoglucoisomerase
triose phosphate isomerase (TPI)
A,CB,ED
B,C,D,E A
D,B,C,A,E
B,D,A,C,E
e. B,D,E,C,A
2. Glucokinase has a Km value of 10.0 mM, whereas hexokinase has a Km value of 0.1 mM that is
consistent with:
a. glucokinase acting on glucose at low concentrations.
b. glucokinase acting on glucose only at high glucose concentrations
c. glucokinase phosphorylation of most of the glucose at low glucose levels
d. hexokinase acting on glucose only at high levels of glucose
e. hexokinase acting at about half-maximal velocity at glucose concentrations of 4-5 mM
3. For phosphofructokinase-1:
a. Low ATP stimulates the enzyme, but fructose-2,6-bisphosphate inhibits
b. High ATP stimulates the enzyme, an dfructose-2,6-bisphosphate activates
c. High ATP stimulates the enzyme, but fructose-2,6-bisphosphate inhibits
d. The enzyme is more active at low ATP than at high, and fructose-2,6-bisphosphate
activates the enzyme
e. ATP and fructose-2,6-bisphosphate both inhibit the enzyme
4. Glyceraldehyde-3-phosphate dehydrogenase belongs to what class of enzymes?
a. oxidoreductases
b. isomerases
c. transferases
d. hydrolases
e. ligases
5. In eukaryotic cells, glycolysis occurs in the _, and the TCA cycle reactions take place in .
a. mitochondria; mitochondria
b. cytoplasm; mitochondria
c. cytoplasm; cytoplasm
d. mitochondria; ribosomes
e. cytoplasm; ribosomes
6. Which enzymes of the TCA cycle catalyze oxidative decarboxylation reactions?
a. malate dehydrogenase and citrate synthase
fumarase and succinate dehydrogenase
o—ketoglutarate dehydrogenase and succinate dehydrogenase
isocitrate dehydrogenase and @ —ketoglutarate dehydrogenase
aconitase and succinate dehydrogenase
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. Western blotting
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a
b. Ribozyme

c. Gluconeogenesis
d. Tm

e. Ketone body

f. Okazaki fragment
g. Promoter

h. Lactose intolerence
i. Urea cycle

j- Essential fatty acid
k. RNA polymerase
I. Fluid mosaic model
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